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rkPgfhyj]jpw]fhd thdpiy mwpf]if:- 

1. rkPg fhyj;jpy; khtl;lj;jpy; kiH ,y]iy  

2. jl;gbtg;gk; kw;Wk; fhw;wpd; <ug;gjk;	
 -	
 mjpfgl;r btg;gepiy	
 22-23	
 br. kw;Wk; Fiwe;j 

gl;r btg;gepiy 10-120 br. ,Ue;jJ.  fhiy neu fhw;wpd; <ug;gjk; 53-96 % kw;Wk; khiy 

neu fhw;wpd; <ug;gjk; 46-98 % ,Ue;jJ. fhw;wpd; ntfk; 2 (fpnyh.kP./kzpf;F)	
 

thdpiy  Kd]dwptpg ]g [ [    

 

thdpiy rhh ;e ;j rhFgo Fwpg ;g [fs;   

• mLj;j \d]W ehl;fSf;F nyrhd kiH  vjph;ghh;f;fg;gLfpwJ. 

• thdk] nkf\l;lk] fhuzkhf mtiuapy] Md]jpuf]l]nehir fl]Lg]gLj]j khd]nfhbrg]  

2 fp;uhk]/yp bjspf]fyhk] 

• mjpfgl;r jl;g btg;gk] fhuzkhf fhh]nd#dpy] fUg]g[ ,iy g[s]spfs] tUtjw]fhd 

tha]]g]g[ cs]sJ ,jid fl]Lg]ggLj]j Fnshnuhjnyhdpy] 1.5 fp;uhk]/yp bjspf]fyhk] 

• fha]fwp gaph]fspy] bts]isg[Git fl;Lg;gLj;j bkl]lhiurpak] 20 fpnyh fp;uhk ed]F 

kf]fpa bjhG cuj]njhL fye]J /vf]lUf]F ,lt[k] 

thdpiy Fwpg ;g [fs;  08.04.15 09.04.15 10.04.15 11.04.15 12.04.15 

kiH (kp.kP) 2	
   3	
   2	
   2	
   5	
  
mjpfgl;r jl;g btg;gk; (0 br.) 23	
   23	
   23	
   23	
   23	
  
Fiwe;jgl;r jl;g btg;gk; (0 br.) 14	
   14	
   14	
   13	
   13	
  
nkf\l;lk; (Xf;lh) 6	
   6	
   5	
   5	
   6	
  
mjpfgl;r fhw;wpd; <ug;gjk;	
  (%)	
   90	
   90	
   90	
   90	
   90	
  
Fiwe;jgl;r fhw;wpd; <ug;gjk;	
  
(%)	
   55	
   55	
   55	
   70	
   70	
  
fhw;wpd; ntfk; 
(fpnyh.kP./kzpf;F) 1	
   1	
   1	
   1	
   1	
  
fhw;wpd; jpir 190	
   180	
   190	
   190	
   190	
  



• btg]gepiy khw]wj]jpd] fhuzkhf Kl]ilnfhrpy] m!]tpdp g{r]rpia fl;Lg;gLj;j 

k"]$s] xl]Lg]bghwp 1 vf]lUf]F 12 vd]w tpfpjj]jpy] bghUj]jt[k] , ntg]g vz]iz 3 % 

bjspf]ft[k] 

 
 
   

nguhrphpah; kw;Wk; jiyth; 
njhl;lf;fiy Muha;r;rp epiyak;    

cjif. 


